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QUESTION 1

When should performance measurement of a test be recorded?
A. when the system is reaching its steady state

B. as soon as all virtual users hit the application

C. after all virtual users reach synchronization point

D. anytime after test execution

Correct Answer: A

QUESTION 2

What are four options in customizing the appearance of a report graph in the Graphic Configuration window? (Choose
four.)

A. graphic spans full width
B. display run time

C. draw thick lines

D. use 3D bars

E. font size

F. type face

Correct Answer. ABCD

QUESTION 3

Two workstations are installed with the full IBM Rational Performance Tester 8.2 product in addition to a

server that is installed with the IBM Rational Agent Controller. Stress testing is conducted with all the machines.
Response time breakdown data is collected. Later the tester discovers that the data was in fact not collected. What are
four probable causes? (Choose four.)

A. The server has not been instrumented.

B. IBM Rational Performance Tester is running on the other workstation.

C. The response time breakdown collection has not been enabled.

D. The firewall between the server and the two servers has not been opened.

E. IBM Rational Performance Tester 8.2 is not compatible with IBM Rational Agent Controller.
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F. IBM Rational Agent Controller is not running on the workstation.

Correct Answer: ACDE

QUESTION 4

Which three verification points can be applied at the element level? (Choose three.)
A. Page Title VP

B. Page Content VP

C. Response Size VP

D. Response Code VP

Correct Answer: B

QUESTION 5

What do good candidates for datapool substitution do?

A. simulate unique user credentials and data entry choices by individual users

B. simulate random timing and workflow variations by individual users

C. improve application performance by requesting pages that are already cached
D. make performance more predictable by using the same data values for every user

Correct Answer: A
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